g
B = ﬁ"k

Which number will come in the place of
Question mark ?

8,12,9,13,10,14,?

(A) 10 (B) 15

(C) 11 (D) 16

Which of the following input device Is used to
convert a document into an electronic format
and it can be stored on the disk ?

(A) Printer (B) Plotter
(C) Scanner (D) Projector

Who is the current President of Indian
Weightlifting Federation ?

(A) Bajrang Punia (B) Anand Gowda
(C) Sahdev Yadav (D) Santosh Yadav

Which of the following Courts have the power
to issue writs for the enforcement of the
Fundamental Rights in the Country ?

(A) Supreme Court

(B) High Court iy
(C) Both (A) and (B) W
(D) None of the above

Indian System of Medicine (ISM) includes

systems.
(A) Five (8) Six
(C) Three (D) Ten

Which letterintheword 'SELFRIGHTEOUSNESS’
does not change its position when the letters

are reversed ?

(A) T (B) G
(C) H (D) E

In how many years will a sum of

money double itself at 6-1-% simple
interest per annum ?

(A) 24 years (B) 20 years
(C) 12 years (D) 16 years

Of the 84 parents who attended a meeting at
a school, 35 volunteered to supervise children
during the school picnic and 11 volunteered
both to supervise children during the picnic
and to bring refreshments to the picnic. If the
number of parents who volunteered to bring
refreshments was 1.5 times the number'of
parents who neither volunteered to supervise
children during the picnic nor volunteered to
bring refreshments, how many of the parents

volunteered to bring refreshments 7
(‘3 25 (8) 36
(€) a2 (D) 45

(R
5}
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] Fae % v w - g s 1

8,12,9,13,10,14,7

(A) 10 (B) 15
(©) 11 (D) 16

B § @ FR-91 WIE fEaTE R 5
@ﬁmmﬂqﬁaﬁamﬁ Il
&wmﬁzﬁmﬁmmmﬁa
(n) fiex (®)
(C) (D) S

3 et riTTe &Y % FAHH S P 7
(A) v gfrm (8) 3 st
(c) we¥a areE () Hefry F=a

/. o1 i feras srftrenl & warda % forg fe smh #a
1 sifere Erefefiaa # & fom 2 % T 8 7

(A) HaTwd ATed

(D) EaE
wrdta siafy woneh (3. caum.) #
worferat snfie € 1 a

B) ©:

(A) uf=
() Eﬁ'"{ ng THhiarlD) b

srafi ?ﬁ H? OUSNESS’ H F1--H1 &
miumqgu%musstammmmﬂ%@
sm€? GSC

(A) T (B) G

(C) H (D) E

/-,-/ afa s%%mummmﬂ
i ph A 7

(A) 2aad () 20
() 12734 (D) 16ad
e Tl ) A § Iufla 84 s A 8 35
uﬁ:h:mqaﬁmﬁm%aﬁmua‘iaﬁw@*
oy areifea & ol 11 sifnmae femfe A0
e ) FEv i A e 2t ¥ R Al
¥ | of: AW e A A #
e ¥ St 1 1.5 T &, i R
O 7 ) areedt o Yt 3 forg e € 3
2 9 e T 3 foru Aeifea #, e s
v oA & forg aifeat & 7 =.
(A) 25 '
(C) 42

U
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Lo

uft frem ad
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gxample for Baby AT Motherboard

9.

(A) Pentium | (B) Pentium 1|

(C) Pentium Il (D) Pentium MMX
10. The process of cleaning dirty money with the

objective of hiding its source and enabling it to
be used later in a legal form is

(A) Smuggling (B) Black money

(C) Demonetization (D) Money laundering

11. Which bankruptcy law of India
seeks to consolidate the existing
framework by creating a single law
for insolvency and bankruptcy 7
(A) The Bankruptcy Code, 2020
(8) The Insolvency Code, 2020
(C) The Insolvency and Bankruptcy Rule, 2021
(D) The Insolvency and Bankruptcy Code, 2016

12. In which year did the Ancient Olympic Games

begin ?
(A) 756 BCE (B) 765 BCE
(C) 776 BCE (D) 782 BCE

13. In the Olympic games, the flags of 6 nations
were flown on the masts in the following way :
The flag of America was to the left of Indian
Tricolour and to the right of the flag of France.
The flag of Australia was on the right of Indian
flag but to the left of the flag of Japan, which
was to the left of the flag of Canada.
Find the two flags which are in the centre.

wo —— 2#0 (A) America and India

(B) Japan and Australia

b J‘((:] America and Australia
ﬁ f‘h (D) India and Australia

“ 14. Which of the following does not represent
electrical power in a circuit ?
(A) PR (B) IR?
V’
(C) v (D) —
15. Find the missing number

(A) 11
(€) 13

(8) 17
(D) 19

CMMS - 51

(.9.) %o, &, waead w5 3amgon §
(A) leam | (8) ey
() Wl (D) fam pmmx
A0 [ sabaan 7 wmer 172 v % st o6 gard i i
30 A B8 3w v e % sk
ure fwa e B 7

(A) TRl (B) #ren ua
(c) T (D) wt @iz

11, Aeanfern st amvm e % few vas 6w o
T % WA A~ mﬁ'arf%fmmmqnmm
wufepa @ & 7

(A) feanferm wfean, 2020

(B) e Sreqwan wfgan, 2020

(c) feanferar ua sivem svemen fam, 2021
(D) faanferan v wivm svemen wfan, 2016

12" Wl el deil 1 3w e ad gan 7

mag (A) 756 £.9. (B) 765%.3,
E’ﬁ (C) 776 £.4. (D) 782%.9.

13, aﬁaiﬁan%a’iﬁ 6 U1 ¥ 32 Frafafas o+ |

mmtmmmtu@%mm
F1 WS GEOF T | Ao # FE, wia F
%2 % 2 & 9ig 9 F F2 F w8, S FAE
FEeFande |
JAFRIAF, HHFFHE |
(A) smife afit wma
(8) Sy 3R Ao
(C)aﬁmmu@m
(D) W 3t sfeferan
14, fy=fefiaa 3 @ S9-a o ooy 3
fargga i w6t =i it ?
(A) 'R

() vi (D)
15. qw |1 am'r ﬁ |

(A) 11
(€) 13

(8) IR?
vz

(B) 17
(D) 19

JI:‘ﬂ
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16.  Which of the following connects a PC to a

17.

18.

19,

Joystick ?
(A) Modem
(C) Game port

(B) Ethernet port
(D) DVI port

To enhance the financial inclusion, the Reserve
Bank of India has undertaken a project titled
(A) Project Financial Literacy

(B) Project Financial Tandrum

(C) Project Finance and Audit

(D) Project Literature

How many times will the minute hand
and the hour hand of a clock be at right
angles in 24 hours ?
(A) 12

(C) 44

(B) 24

(D) 48 mﬁ

Magnitude of drift velocity per unit electric field is
(A) Current density (B) Current

(C) Resistivity (D) Mobility
World’s most problematic aquatic weed is
(A) Pistia

(C) Eichhornia crassipes

(B) Lantana
(D) Cactus

Five boys took part in a race. Ram finished
before Mohan but behind Gopal. Vijay
finished before Sailesh but behind Mohan.
Who won the race ? -
(A) Ram (B) Gopal

(C) Mohan (D) Vijay

Which of the following is not a secondary
storage device ?
(A) Floppy disk
(C) Tape drive

(B) Hard disk
(D) Register

means a system of a secure key

pair consisting of a private key for creating a

digital signature and a public key to verify the
digital signature.

(A) Symmetric Crypto System

(B) Asymmetric Crypto System
(€) Symmetric Encryption System
(D) ’mm'ﬂecryptlon System
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16, freffiag if @ o 0t ® uF SR
’n’m ’ ? - -
(A) Widy (B) gaTAZTE
(C) My s (p) 24t o

ferefas pstrrer i @ fero, sreeta frord s 3
i fvarsen @ s fapan 2 7

y 2310
(C) wittaz wrgAH UE HiTez
(D) sz feetan

(A) vz gt feretd
(B) st wrgfiae S5

24 ¥i2 i fapareft am u =@ i firz 3l 92 ah
q§ wueio gt gnft 7

17.

y:

(A) 12 (B) 24

(C) 44 (D) 48
a9 3rqarg an wfa garé faega & =1 gfmmor @
(A) foega wve= (8) faga wmu
(C) wferdrerran (D) nfasfreran _
fava it waffis avered i smqme
(A) fafemn . T R
(C) gaifan sifirm (D) ¥=zm M

ufe <18 v g F wr o § | T, dew v
} 98 WY Tt % S B wmre =T S
R fom e S Ty e

T Al R | re de ?

(A) ™ (B) T

(C) wrew (D) fam
frafafes 4 @ sh-w1 w s

werw feaga adi & 7
(A) werrdt fEes

(C) 9 g
23.

20.

(8) wE fo
(D) Wz

— w3} uw Foit W H
Qﬁmw&&mmmtﬁqw

fosft gsft o faforeet wwxanem = wenrfis o &
fore weh wredafe fft e @

(A) wwfa e R

(B) sramfa iR fivem

(€) wmfive ufFhe fivey

(D) amfiva fafrr fiven
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dice is thrown 3 times and Its 3 positions are

4. A
given. Y
. 0 @
| e i I ] W
Which symbol is opposite to e
(A) § (B) ¢
€)@ (D) ©

25.  Who among the following is considered as

the Father of Ecology in India ?
(B) Charles Darwin

O A) Dr. Swaminathan
ﬁc; Ramdeo Misra (D) S. L. Bahuguna
Which of the following Ministries has
launched Tree Plantation Campaign
“Vriksharopan Abhiyan - 2021" 7
(A) Ministry of Coal
(B) Ministry of New and Renewable Energy

(C) Ministry of Forest and Climate Change
(D) None of the above

27. Which of the following is called as ‘Golden Fibre’ ?
(A) Cotton (B) Silk
(C) Jute (D) None of the above

CO, HCI

(A) Phenol
(C) Chlorobenzene

(B) Benzoic acid
(D) Benzaldehyde

In a queue of children, Kashish is fifth from the
left and Mona is sixth from the right. When they
interchange their places among themselves,
Kashish becomes thirteenth from the left. Then,
what will be Mona’s position from the right ?
(A) 4» () 8"

(C) 14* (D) 15%

30. RISC stands for
(A) Risk Induced Set Computer
(B) Reduced Instruction Set Computer
(C) Risk Instruction Set Computer
(D) Reduced Inductive Set Computer

31.  Who among the following is called as the
Architect of Indian Planning ?
(A) Prasanta Chandra Mahalanobis
(B) Samarendra Nath Roy
(C) Debabrata Basu
(D) None of the above
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AR A g "
Y
6
”

24,

) ) b

v & faafia #a-m dia B7
(A) $ (B) ¢
() @ (D) &
frafefiaa § 8 A wra o aififeafed) faam »
9 o W A AR |

(A) =, @rftnas (8) =Ted BifdA

(c) T faas (D) UA. 7H. agm
26, fr=fafas 4 8 #5-3 gaem 3 darimo
5 it " gamim afvam-2021" wmw
fFm e ?
(A) 1T WA :
(B) Fet7 vd FtFvfia et Harea

(C) g va uftgd garEa
(D) mmm
frferfiaa 8§ & Bl “iees wme’ ser I 8 7

(A) =aTH () T3
(C) 2 (D) 3T H A F1§ 7€

<l €O, Hl YR
3| ;

Anhyd -AlCI,/CuCl
(REZIS

(8) FairgH I
(OESIEEE]

27,

(D) FAfreerds

T=d1 &) uw ufaa § s and F of=d shoam
Zid @ 93 W W R | 99 A 19E § T4 a7 St
¥, @ wfig snd @ e @ st R | @ A=
T 2 @ W= 8w 7 K

(A) 4@
(c) 144l
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on heating with formaldehyde 37. whiffserizs g masaw frdw

32, Who moved the Objective Resolution in the 320 i ¥ e w9 A I T % T i 37. =
Constituent Assembly of India 7 femmm ? : undergoes cross linking to form an infusible i fafife o s m&lﬁn 18 wamd ﬂa|.= Fr
{A) Dr. 8. R. Ambedkar (B) Vallabh Bhai Patel (A) W1, ¥, 3. TS (B) FEenT 92 solid mass called Bakelite. & At
(C) Mahatma Gandhi (D) Jawaharlal Nehru (c) wwere SRR o (A) Novolac {8) Melamine (A) At (8) Sami 3
33. From the given answer figures, select the one in A3, # I %*mwlﬂﬁ._ﬂ.ﬁmqu fomm {C) Butadiene (D) Isoprene (C) =B (D) wrgsnita \§
which the question figure is hidden/embedded. uﬁﬂ_ﬁwd&’%w_ 38. The ratio of third proportional to 12 and 30| 38 12 3 30 % et wwgeet st o s 25 m
- and the mean proportional to Sand 25 is ~ ue HHTITAT ) A ] I T ..O
m e (A) 5:1 (8) 2:1 (A) 5:1 (8) 2:1 i’ ;...lPu.
SO - () 9:14 (D) 7:15 (C) 9:14 (D) 7:15 Koo >
./\..,/\\ \_.\w/u!. \I.I. 39. Lalalajpat Rai University of Veterinaryand Animal | 39 gﬁ?ﬁ?@nﬂggﬂé? T
(A) (8) minw\ﬂ”_\” W. (A) (8) .\I_rﬂll.. Scences located at district of Haryana st oy fag Fafaoea Bl ? C
$ 7N b (A) Hisar (8) Jind B () feam (8) 2 @)
WL/ N/ (C) Karnal (D] Panipat Ia_um (C) wA (D) s e
VN 7] 17 40. The foundation of Internet was laid in 40. ez 13 frm ad f it g 7 q0]
0 ESS () © o) v | {A) 1990 (8) 1989 (A) 1990 (8) 1989 O
(C} 1969 (D) 1998 (C) 1969 (D) 1998 >
34, Raman drove from home to another town V.ﬁﬂqwlﬁ«!ﬂhﬂ%ﬂﬁgﬁﬂ% a ”MHMM”“% of India commenced its | 41, wieefta frored & 3 avn e ww g e _|dEu
at the of 50 and on his ret e awH # &
Fnissﬂaaaa a__u.n:ﬁaﬂ. 45 5?5 ot 45 fiefuz 1 fa & i ==nd ol 3w (A) April 1, 1944 (B) April 1, 1935 (A) 139%9, 1944 (B) 13fa, 1935 N
and took an hour longer to reach home. What ﬁ.ni.ﬂ%g_igm%@ﬂ 4 (C) April 1, 1931 (D) None of the above (C) 130®, 1931 (D) Iviw # & =i =
distance did he cover each way ? wmf? e’ fy the
rerlaa e A Ty SRt (8) 225 RN 7 42, Identify the incorrect statement about _82. v ¥ watwa e & it # vew el B B
(C) 900 km (D) 450 km (© 900 faad) (D) 450 ft (4 . Supreme Court of India qEEH ¥ | W
3 iae Nt r dacidted 1o sk e 3. 3 by fed we @ 8 i @ Bees w0 (A) ._Jmamn.so.: of the Supreme Court are (A) ﬂ&ﬂaﬁ_&.;gﬂﬂiﬂ W
recently Is - favig o 2 s ﬁ binding on all Courts arei)
() Ford (8) Telsa (A) “ (8) FFm (B) It can not transfer Judges of High Courts. 8) M ﬂua_a_mi_#u!__z__a L =
(C) Kia (D) Ashoka Leyland () (D) st Sz A (C) 1t can move cases from any Court to (C) T i oft =raTers & g W 9 T m
f itself. A 5% # |
36. Select the correct mirror image of the given 36 A i 3 W v i g, W@ e (D) It can transfer cases from one Hi o
gh Court (D) e HIoE F v Iva AEe A g g el
:ﬂl.juﬁ%_.lsassn; T ABWT@I A | ;.om,. . AR wHIARA % w8 | i
[ Imhuno.ll_. 43. A B, C D EandF are six members of a family. | &3 A, B, C, D, E 3 F v wftar & 6 e §) sfEn O
One couple has parents and their children in the vzl & gan-f a1 F A, cTPR, ©
] ra?)wusuain.a.mraagﬁz? eEAFighd D F g, AeHamb .m
’..ﬂuﬂl. A~cereTTecs Dis the daughter of F, who is the mother of E Frferfad 3 & - gm zmfa Fwm-fa § 7 -
i ) Which of the following pairs is the parents of W
A o

_ _ 3 ﬁ.ﬁﬁ“aes&“ ) Fung > ﬁ%n&«sﬁ. (8) W% =
3 w
" E‘ ©) H » (©) Protozoa (D) Virus © oy ¢ _ =

a =

the
8] -8 | “lE] ~[E] we  m PhRE
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45. A Sgitally enabled platform developed
Bharat Heavy Electricals Limited by| as. Fdftwofa s
3!&313“&3 e e ga@@”ﬂ% % ¥y W 53 Therel
sector is T Frwfam v fefien _ There is no All-Women Police Station in
(A} SanRachna (8) SPA e SR : (A) Jammu and 5
() SPONGE RROW (A Kashmir (B} Manipur \w- o 7 gfta oo =
"y (D} ASPIRE _nw ﬁu— (8) ¥m (€) Daman and Diu (D) Meghalaya (A) w3y 3l v _m. n@n“.ﬂui» |
Whit &5 the ﬁvgg!_z»na e a6 . _cm T 54. ’NOTA option is available to voters in wh b (D) Fwrr
Constitution added in the year 2002 7 iwo;ﬁa_:.p%msaas:asig the following elections ? chof | so. Periviem 2 s win
S — e LA g o RIS  a _C)
parents N ; ns . TFege
UEEL% (8) dﬂn@ﬁ!aﬂh»ﬂ»ii : 3. State Assembly elections 2 mﬂﬂ.ﬂﬁ m
{C) To develop the scantific g-tamd® % Fnan e w (A) 2and 3 only (8] 1only 3, ﬁﬂugﬂﬂﬂ 0
spt of enquiry e the (©) Amrfre v st oS (C) 2 0nly (D) 1and 3 only ) Fmasts e O
(D) To ssfaguard the public property Sﬂﬂga .55 Who was the first empress in the world 7 ) 2 D) Tw 13l 3 V.
£7. Tenppescithe smetypefllatankin 24 (D) wrEalF w#ef @ = oy l, (A) Cleopatra (B) Hatshepsut 5 F-ﬂ%.u“-ua&n &7
ljiaaﬂgiglﬁ..iul 47, HOE VERF A O U o0 w1 24 R A A # 104 (C) Hammurabi (D) ShiHu Wang Ti (A) T (8) bzira -
remaining pipes take to fill the tank ? S A a g, _ 8. Which of the following sodi (€ Tt D) M
(A} 40 min feawmg e ? (e v people to socie social bonds connect | 56 Fr=ierfign & 2 S v )
(8) 45 min . FA) Comnk . : g & & #3-5 Ffaw du =
L @ Gwls (D3 30 min W SWa (8) 45 fz ﬁ“ s (8) Attachmeat ﬂua!ﬁaq - G
48 Friends of armersare © Gm?a (o) 30fmz 57, Inthisqu She (D) All of the above © ﬁnaaa__m_ﬂa ___w“ nm_ﬂ_q& PUU
ﬁq!l..!l (8] Cockroach L .Hmﬂu R e e ot | 5. waniuew font.
(D) Dogs (A) (8) freram (s) which best fit(s) iogically. b e it it
25, Durand Cup belongs to which sports ? (C) ¥y (D) ¥ ﬂ.ﬂ__iﬁ“ = weA afe T d e |
¥ fachen Crickat 49: e W few g @ wai horses are fishes. :
55 Satushalt ﬂ Baseball (A) F2= .Ew”wﬂ.. i-a fishes. W“ MH_MM%M : =
50 Which of the followsng is 3 sodial science ) Wbty (D) Fweie -1 Some fishes Prai: _ -
the coportunities for teoryof | s0. Fefefmadd . Il Some bi ik . 3o wofw! 47
_ anch kiiidial wimprove | P70 v w e feain birds are not horse o wull, wh
e s quaaiey of e ? 2, famit writs =fdn 51 W dW S (A). Only conclusion | follows 0. FE s, S
(A) Survival () e chances T dem w9A & am A g 7 o (B) Only concusion 1ol lows o ap iy
{€) Opportunistic (D} Optimist (&) Ferifam (8) e (C) Neither conclusion o (8) Faa e ﬂ-ﬂaﬁlagﬂ
ml. rariks seventh from the () swa® (D) s (5) Both conclusions 1 and i folow © u&ﬂl__aa_.ﬁmﬂaw ?
frc ; t0p and twerty-sicth 58. D) Frsd b v
| 0 825 e I e s g | Qeagpgdncjor 5
< o A bl ; 8 32 {A) Smooth show striations w
RS g (©) 3¢ [ (8) 32 s ol Cardiac muscle ﬁpixiiuﬁn%ii!‘ =
A vnue mame that identife: » e o ()34 e i (D) Noneof these “n“..m_&nai_ (8] ¥e F mTH
I s i and represents .\lm_,#_ !a?.- Hﬁ“’?‘&lﬁ_ﬁﬁ .M_cn..<<p_=o= lic Service Day is observed | 59, UHIA Hyw TG & _ﬁlm_o_ i
s, awt ST B ) o " 3 *
* i 60, Wha 1* *Uv None of the above d a— 22
E l—!a’ u.o.cﬁaau-u.’&s (C) 11 7=t _Eun@’ AW
Ocean’ ? iral of the Indian | 60. ‘wEfime : FETE
(8) Fwaez wy o - e % 2 ¥ewa s’ @ T Rl
¥ Bartholomew Diaz
(C) T TR P ide (A9 (8) Ferdinand Mageilan Eclgﬁw
(0) e 7 v (7w A (C) Amerigo Vespucci (6) ¥itre
Ad) (D) Vasco-da-Gama
(C) o Fegwit
(D) AREY-Z-TT7




e i g -

i

6L ThesansofABCaeinthernno:3:5
If the increments of 15%, 10% and 20% are
afiowed respecvely in their salaries, then
what will be the new ratio of their salaries ?
(A) 10:21:20 (B) 3:3:10
€) 33:33:80 (D) Cannot be determined

6. Who s the current Director General of WHO ?
(A) Redrose Adhanom

Rahul ranked ninth from the top and thirty
eghth from the bottom in 2 class. How many
students are there n the class ?

(a) 2 (8} 48

Q= D} 48

Cermin number consists of two digits whose
sum s 8. if the order of digits is reversed, the
new number is 3 less than the original number.
The original number is
{a) a5

K sa

Which Is the oytoplasmic hybrid produced
from the fusion of protoplast and cytoplast ?
(&) Gybnd {B] Hybrid

IC) Hybridoma celis (D) Callus

LM.N, O, P Qand & are seven points
ona field. O is 220 m to the North of
# Lis 180 m to the North of M, which
s1Smtothe Westof N.PisaOmto
the North of R and 30 m to the East
of M. Qis 220 m tothe South of L

o

O

=9

.

(=gl

.Eo
.._f,_ .‘ .‘
[ 1

g N “ 2> i
61, ABC W 2:3;5% squm A B | AR 3%
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Ao & wamm: 15%, 10% 3 20% 9 3fg 0 T
E, 0 5% d53 = AW s w0 nm 7

(A) 10:11:20 (B) 3:3:10
(€) 23:33:60 (D) Fraffta 4l Fwn o s

62 wwH & wee . A, & wefinw WA # 7

(A) tairm vt
(8) Txitw wiam

B3 ﬂgmﬁ!!iﬁﬁsw&sm“;

srgeireat & | wwn A fired femdf 2 7 3%

»
-t £

(8) 46
(D) 48

(A) 50
(C) 52

sa. e o ffvtve wen A @ o § ol 3 o

mameb 1M IF w e d ey, @

oy wen e e @ 9w A e we R

(a) a5 (8) 36
€) 54 (o) 63
s TR 3 ANEERE & 5o 8 wR-a
W e I Pk 7
(a) wgfiE (8) Tnfas
(C) whusrn wifvwd (D) Yo

6 LMmNoraRm@mmmfztior
7 wIwmd 20

180 =,

L HANS d19. s w HiIpRE
smEgAs Rl

wefmd 209w

=fta g 8 oim s Se yE a2

w3 % we w77l gem & o 260 . we

tavfmER gt s R o

wfed % o feadt l sa el wed 27

() 2541, (8) 19

(c) 30+, (0) 217,

T W A w9 afiEm F s 9 A w

o ke e e (o .

(A) um A,

ﬁﬁ&ﬂaiis.,asa

o) ﬁwﬂ h|w)

robation of good co
s Wﬁhﬂ“ﬂ“ﬂ“ﬂm» comes c:h_.: -
(A) Section 359 of Cr.P. C
(8) Section 360 of Cr. P. C.
(€) Section 361 of Cr.P.C
(D) Section 362 of Cr.P. C

§9. Inflation reduces the
{A) Purchasing power of money
(8) Purchasing power of goods
(C) Purchasing power of services

{D) Purchasing power of property
70. The variability of insoiation 3t the surface of
the earth is caused by
(A) Rotation of the earth on its axis
{B) The angle of inclination of the Sun’s rays
(C) The length of the day
(D) All the abave

71. ‘What is the site of Vernalisation ?
(A) Apical bud (B) Lateral bud
(€) infected bud (D) Necrotic bud

72. Consider the following statements about
YUKT! 2.0 platform
I. It helps systematically assimilate
technologies having commercial
potential and information related
to incubatad startups in our higher
education institutions.
IL. 1t s an initiative by Ministry of Science

and Technology.

Choose the correct option from the following.

(A) Only the statement | is correct

(B) Only the statement Il is correct

(C) Both the statements | and Il are correct

(D) None of the above

73. The price of one currency in terms of another
currency is
(A) Interest rate 7.4
(B) Foreign exchange rate B
(C) Bank rate

(D) None of the above
74. Ina non-leap year, the probability of having

53 Tuesdays or 53 Wednesdays is
1 (8) 0
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3.

_English Language

Fill in the blank with appropriate word from
the alternatives given below it.

is a gift from my father.
(B) This
(D) Which

(A) These
(C) Those

Write the words denoting sounds made by
the noun subjects from the alternatives given
below it.

Wings

(A) rumbles

(B) flutter

(C) clatter

(D) creak

Give the meaning of the underlined idiomatic

expression from the alternatives given below

it. (Understanding the context from the

sentence).

His failure in life can be attributed

only to the black ox.

(A) to be at the highest point of glory and
fame

(B) becoming less powerful and acceptable

(C) strong determination

(D) misfortune

Choose the right meaning of the following
idiomatic expression from the alternatives
given below it.

With open arms.

(A) Protest strongly

(B) Pleased to welcome something

(C) Keep in safe distance

(D) Avoid being too friendly

Choose the right antonym of the given word.

CONCEITED
(A) Detailed
(8) Convex
(C) Modest
(D) Diverge
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